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Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks)

Marks

OBE

co

RBT

1 (a)

efine derivatives with an example?

[03]

CO1

1.1

(b)

Explain the factors contributing the growth of derivatives.

[07]

CO1

{89,

Assume that a market capitalization weighted index contains only three stocks A, B
and C as shown below. The current value of the index is 1056,

Company

Share Price (Rs.)

Market Capitalization (Rs. crores)

A
B

(c) C

120

50
80

12
30
24

units.

Calculate the price of a futures contract with expiration on 60 days on this index if it is
known that 25 days from today, Company A would pay a dividend of Rs.8 per share.
Take the risk-free rate of interest to be 15% per annum. Assume the lot size to be 200

[10]

CcO2

L3

2 (a) What do you meant by index arbitrage?

[03]

CO2

) Share Y is currently selling at Rs.75. the risk-free rate of interest is 9% per annum.
What should be the fair contract price of a two-month future contract?

[07]

CO2

C.
d. Lot size is 300 units.

(c)

Assume that a Stock Index consists of 5 stocks. Currently the index stands at 970/-.
Obtain the price of a future contract with expiration in 115 days on this index having
references to the following additional information.
a. Dividend of Rs 6/- per share is expected on share ‘B’, 20 days from now.
b. Dividend of Rs 3/- per share is expected on share ‘E’, 28 days from now.
Continuous compounding risk free rate is 8%.

Company

Share Price

Market Capitalization

A

22

110

B

85

170

C

124

372

D

54

216

E

.5

200

[10]

CO2

3 (a) What is hedging using futures?

[03]

COl

Lt

(b) [Explain the features of future ¢

ontract.

[07]

COl

(©)

1.

Consider a six months forward contract on 100 shares with a price of Rs.38 each.
i.  The continuously compounded risk-frec rate is 10% p.a. The share yields
dividend of Rs.1.50 in 4 months. Find the value of forward contract.

Assume that dividend income worth Rs.150 is expected after 3 months and
also after 6 months thenjiugket the value of contract®

(10]

Part B - Compulsory (01*10=10 marks) — CASE STUDY

O
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n investor took short position in 10 futures contracts of commodity at an excise price
4 Jof Rs. 28.75/kg. The size of one future contract is 100kg. The initial margin for this
contract is 20% and the maintenance margin is 85% of initial margin. The future price
for the 1% 10 days of the contract is given below prepare a margin account for the 1% 10{ 10 |C0O2| L4
days assuming that all margin calls are honored immediately
Days | 1 2 3 4 5 6 7 8 9 10

Price | 28.9 | 29.75 | 29.10 | 28.85 | 29.65 | 30.15 | 31.25 | 31.50 | 32.25 | 31.60
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PSO1- Comprehend Contemporary features of Business Management Science and its administration

PSO2- Analyze and interpret the dynamic situations for making Business Management Strategies

PSO3- Handle responsibility with the ethical values for all actions undertaken by them
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